H

-

==

1 | | Hi | It
. l I N | t \ i T o1 o] o 15
\DEIUBLE NESTED
PAY LIMIT = 18'—1%’
I /I "= 4 l//
Iy I , / ) o 3 SPACES @ 3'-1 } 9'-45
. —115"— 5 SPACES @ 1'-6 3 = 7'-9%
T o ]
! [ | | P ke ks Boesooote ke 23 gﬁ ;
= | |
7 =
= = b b
, E
e —— I
7" CURB
! t — ] (vl < Tp] o} ~ ® o
= = - - = = = - =
(%] (2] [} (%] (%] (%] ) (%] [%]
[} ] =] a () a a [} [mm]
[\ a a a a a a. a o
BILL OF MATERIAL (EACH CORNERDY 11 gn 3
din ' 1—"
ITEM aTY PART # DESCRIPTION ASTM DESIGNATION [1 I—‘1 '_lﬂ 4
1 6 0013.85710 |W6X8.5 POST @ 7/ (POST 1~6) A36 ' N
2 1 |0013.85711 |W6X85 POST @ & <POST 70 A36 3 I='=l=
3 1 0013.850000 |W6X8.5 POST @ 6’ (POST 8) A36 E"
4 1 [0013.85702 |W6X85 POST @ 6’ (POST 9 A36 PLATE WASHER
5 8 0009.00006 |6X8” BLOCKOUT @ 18” (FOR POST 1~8) POLY ITEM #: 621748 | SHEET 1 OF 2
6 1 0009.00005 |6X8” BLOCKOUT @ 14” POLY
STRUCTURAL STEEL TO
7 1 5143,40056 |12'-6"THRIE BEAM END TERMINAL, 10 Go. AASHTO M180 COMPLY W/ ASTM A6 GUIDE }34@7 (ﬂ@éj]‘ﬁiﬂ?ﬁ Q‘E)ZALLZS SHEET
8 2 5029.00016 |THRIE BEAM W/ 1'-6 ¥ C-C, 12 Go. AASHTDO M180 TOWN OF COLCHESTER, CHITTENDEN COUNTY
5 1 6029.01133 |12'=6” THRIE BEAM TO "W’ PANEL, 10 Ga. AASHTO M180 B?hgzwgg hjng_E[s)s R[NO. | DATE| DESCRIPTION BY| R[NO.| DATE] DESCRIPTION _[BY|
10 5 T.B.D. @ 3/4” X 12’ SLOTTED, ROUND HEAD BOLT, NUT, F.W., & L.W. SUPPLIED BY OTHERS FRACTIONS = % 1/16
11 24 0080.05020 |¢ 5/8*x1-1/4” SPLICE BOLT/RECESSED NUT (PANEL ASS'Y) A307 ANGLES = + 1/2° DRAWN | EP. | #9/i5
12 17 [0080.05720 |® 5/8°x10° CARRIAGE BOLT, LW, FW, & NUT A307 DIAMETERS = + 1/32” f?f&ﬁg oL T
13 17 [0080.15913 [3/16” X 1 3/4" X 3’ PLATE WASHER A36 SCHEMATIC

o
E—Ma/d dlong@elderlee.com / epeck@elderlee.com
Tel:3165—-789-6670 Fax:315-789-6615

SCALE

PRAWING NO. FR L - COLCHESTER




SIDE

1

ol

7"

L4

L____..
mwwvﬁ’?

(TYP)

W6X8.5-/

FRONT & BACK
POST 1~6

N
-l:-l=—L

SIDE

[

m%@/??

(TYP)

& W6X8.5-/

FRONT & BACK

POST 7/

1gf‘%
T 114 L_' ©
2
T A
1316 | | |
T (TYP)
& wexss’/
SIDE  FRONT ONLY
POST 8

SIDE

mw£37}+

F————]

—————
==

(TYP)
M M
i UI|T
&  wexss’] P {103 i Py
) d M
N - |[]
J J
@ &
BT B/0 FOR
B/0 FOR PUST 9
POST 1~8
FRONT & BACK
POST 9
ITEM #: 621.748 | sHEET 2 OF 2
CONPLY WJ 35T As UIDE RALL TRANITION, DETALLS SHEET
TOLERANCE UNLESS R{NO. | DATE DES;SIAIQ\'II'%:NCOLCHESTER’ C:in[;NDIEI;COILJJA':IIYZ DESCRIPTION BY]
OTHERWISE NOTED: E 5

FRACTIONS = * 1/16” VYl _
ANGLES = + 1/2° R
DIAMETERS = % 1/32”

kY

E-Mail: dlong@elderlee.com / epeek@elderlee.com
Tel:315—-789—-667 - 3156—-789-6615

AT i DRAWN E.P.
) R AeR | CHECKED | D.L.

4/9/15

APPROVED

SCALE

SCHEMATIC

DRAWING NO.FR L - COLCHESTER




